1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

1 NS: Byt €258 FH0) -10 8 NS: FH& REKIR(BAC) -15 VP:| 9.61 10.39| Total VP: 17.12 Rank:
EW: & 2522 E0) 15 EW: 15 k5AE(BFO) 10 IMP:| 14 15 14
v N
# 21 & Q9872 4SN5 650 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN5 460 Mean: 3NN5 460 1.0 2
v AQ 4SN5 650 480  4SN5 650 5.0 4 v A74 3NN4 430 420 3NS4 430 00 3
6 Dif: 0 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: 30 NS:1  3NN4 430 00 5
» JT862 IMP: 0 EW:-5 2SN6 230 60 1 » Q976 IMP: 1 EW:0 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 ¢K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W~~~~~ W~~~~~
# 23 » 9852 3NE-2200 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS6 480 Mean: 4HS6 480 20 5
eT9 3NW4 -630 -240  3NW-1 100 80 1 v KJ96 4HS6 480 400  4HSS5 450 2.0 2
¢ 762 Dif: 830 NS:10 3NE-1 100 80 2 + A874 Dif: 0 NS:2 4HS4 420 1.0 4
» KT87 IMP: 13 EW:9 3CW-1 100 80 1 » Q2 IMP: 0 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||a Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 3NW4 -630 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 4SS6 680 Mean: 6SS6 1430 80 7
v AJ653 3HN-1-50 -30  3NE-2 200 6.0 1 v T73 4SN6 680 1100 6SN6 1430 8.0 1
¢ QT Dif: -580 NS:-12 4SN-1 50 1.0 1 + KQ4 Dif: 0 NS:-9 4SS6 680 9.0 5
» QT IMP: -11 EW:1  4HN-1 50 1.0 3 a K2 IMP: 0 EW:9 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 1DW1 -70 Mean: 4SW-2 100 60 1
v K7 6HS6 980 950  6NN6 990 1.0 1M v Q97 4SW-150 -150 3NW-2 100 60 1
* KJ7 Dif: 10 NS:1  6HS6 980 1.0 1 ¢+ QJ9532 Dif: -120 NS:2 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: -3 EW:-5 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 6SE6 -1430 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HN5 450 Mean: 5DXE-3 500 3.0 1
v 95 6HW6 -1430 -830  6HE-1 100 140 1 v KJ83 4HNG 480 390  4HN6 480 3.0 1
¢ 965 Dif: 0 NS:-12 4HES5 650 50 1 ¢ Ka Dif: -30 NS:2 4HS5 450 2.0 1
» JT954 IMP: 0 EW:12 5SW6 680 40 1 s K IMP: -1 EW:-3 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

2 NS: BE L HEEEH0) 14 7 NS: Alan SIA Diana SUN(H VP:| 14.80 : 5.20 | Total VP: 47.26 Rank:
EW: BRZE(y BE2EZZEAC) 5 EW: Radihike RYRN Sunn IMP:| 20 : 5 4
v N
# 21 & Q9872 2SN4 170 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN3 400 Mean: 3NN5 460 1.0 2
v AQ 2SN6 230 480  4SN5 650 5.0 4 v A74 3NN4 430 420 3NS4 430 00 3
6 Dif: -60 NS:-7 4SN4 620 4.0 2 ¢ KT8 Dif: -30 NS:-1  3NN4 430 00 5
» JT862 IMP: -2 EW:6 2SN6 230 60 1 » Q976 IMP: -1 EW:0 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3CW-1100 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS4 420 Mean: 4HS6 480 20 5
eT9 2HE4 -170 -240  3NW-1 100 80 1 v KJ96 4HN4 420 400  4HS5 450 2.0 2
¢ 762 Dif: 270 NS:8 3NE-1 100 80 2 + A874 Dif: 0 NS:1 4HS4 420 1.0 4
» KT87 IMP: 7 EW:-2 3CW-1 100 80 1 » Q2 IMP: 0 EW:-1 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||a Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W~~~~~
# 25 » AQT3 4SN-1-50 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 1430 Mean: 6SS6 1430 8.0 7
v AJ653 4HN-1-50 -30  3NE-2 200 6.0 1 v T73 4SS6 680 1100 6SN6 1430 8.0 1
¢ QT Dif: 0 NS:-1  4SN-1 50 1.0 1 + KQ4 Dif: 750 NS:8 4SS6 680 9.0 5
» QT IMP: 0 EW:1  4HN-1 50 1.0 3 a K2 IMP: 13 EW:9 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 3SW3 -140 Mean: 4SW-2 100 60 1
v K7 6NN6 990 950  6NN6 990 1.0 11 v Q97 2SW2 -110 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: -30 NS:0 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: -1 EW:-1 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJo73 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 4HEG6 -680 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HN4 420 Mean: 5DXE-3 500 3.0 1
v 95 4HE6 -680 -830  6HE-1 100 140 1 v KJ83 4HN5 450 390  4HN6 480 3.0 1
¢ 965 Dif: 0 NS:4 4HE5 650 50 1 ¢ Ka Dif: -30 NS:1 4HS5 450 2.0 1
» JT954 IMP: 0 EW:-4 5SW6 680 40 1 s K IMP: -1 EW:-2 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 + *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

3 NS: EEZE H#HHEEE0) 4 11 NS: S8EUIR &3#E(BAC) -6 VP:| 11.50 : 8.50 Total VP: 59.17 Rank:
EW: 8 3 EEAC) 6 EW: 2R3 JIXA(FHO) -4 IMP:| 18 14 1
v N
# 21 & Q9872 4SN5 650 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN3 400 Mean: 3NN5 460 1.0 2
v AQ 4SN6 680 480  4SN5 650 5.0 4 v A74 3NN3 400 420 3NS4 430 00 3
6 Dif: -30 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: 0 NS:-1  3NN4 430 00 5
» JT862 IMP: -1 EW:-5 2SN6 230 60 1 » Q976 IMP: 0 EW:1 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NW3 -600 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS5 450 Mean: 4HS6 480 20 5
eT9 3NW3 -600 -240  3NW-1 100 80 1 v KJ96 4HS6 480 400  4HS5 450 2.0 2
¢ 762 Dif: 0 NS:-8 3NE-1 100 80 2 + A874 Dif: -30 NS:2 4HS4 420 1.0 4
» KT87 IMP: 0 EW:8 3CW-1 100 80 1 » Q2 IMP: -1 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||a Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W~~~~~
# 25 » AQT3 3DE4 -130 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 1430 Mean: 6SS6 1430 80 7
v AJ653 4HN-2 100 -30  3NE-2 200 6.0 1 v T73 4SS6 680 1100 6SN6 1430 8.0 1
¢ QT Dif: -30 NS:-3 4SN-1 50 1.0 1 + KQ4 Dif: 750 NS:8 4SS6 680 9.0 5
» QT IMP: -1 EW:2 4HN-1 50 1.0 3 a K2 IMP: 13 EW:9 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 2DN-3 -300 Mean: 4SW-2 100 60 1
v K7 6NN6 990 950  6NN6 990 1.0 11 v Q97 3NW-2 100 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: -400 NS:-4 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: -9 EW:-6 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 3NW7 -720 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HS4 420 Mean: 5DXE-3 500 3.0 1
v 95 4HE5 -650 -830  6HE-1 100 140 1 v KJ83 1NS5210 390  4HN6 480 3.0 1
¢ 965 Dif: -70 NS:3 4HE5 650 50 1 ¢ K4 Dif: 210 NS:1  4HS5 450 2.0 1
» JT954 IMP: -2 EW:-5 5SW6 680 40 1 s K IMP: 5 EW:5 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

4 NS: 281 BEERGHO) -7 1 3 NS: MKk £LRZ(BAC) 4 VP:| 7.82 12.18| Total VP: 35.38 Rank:
EW: BEEEE #EEeSEI0) 4 EW: FEE EX¥(F0) 7 IMP:| 27 33 1
v N
# 21 & Q9872 2SN4 170 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN4 430 Mean: 3NN5 460 1.0 2
v AQ 4SN4 620 480  4SN5 650 5.0 4 v A74 3NN4 430 420 3NS4 430 00 3
6 Dif: -450 NS:-7 4SN4 620 4.0 2 ¢ KT8 Dif: 0 NS:0 3NN4 430 00 5
» JT862 IMP: -10 EW:-4 2SN6 230 60 1 » Q976 IMP: 0 EW:0 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NW3 -600 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS6 480 Mean: 4HS6 480 20 5
eT9 3NW-1100 -240 3NW-1 100 80 1 v KJ96 4HS4 420 400  4HS5 450 2.0 2
¢ 762 Dif: -700 NS:-8 3NE-1 100 80 2 + A874 Dif: 60 NS:2 4HS4 420 1.0 4
» KT87 IMP: -12 EW:-8 3CW-1 100 80 1 » Q2 IMP: 2 EW:-1 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||a Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W~~~~~
# 25 » AQT3 4HXN-1 -100 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 1430 Mean: 6SS6 1430 80 7
v AJ653 4DE4 -130 -30  3NE-2 200 6.0 1 v T73 6SS6 1430 1100 6SN6 1430 8.0 1
¢ QT Dif: 30 NS:-2 4SN-1 50 1.0 1 + KQ4 Dif: 0 NS:8 4SS6 680 9.0 5
» QT IMP: 1 EW:3 4HN-1 50 1.0 3 a K2 IMP: 0 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 4SW4 -420 Mean: 4SW-2 100 60 1
v K7 4NN6 490 950  6NN6 990 1.0 11 v Q97 4SW-2 100 -150  3NW-2 100 60 1
* KJ7 Dif: 500 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: -520 NS:-7 4SW-1 50 50 2
» KQ7 IMP: 11 EW:10 4NN6 490 100 1 » AK8 IMP: -11 EW:-6 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 4SW6 -680 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HS5 450 Mean: 5DXE-3 500 3.0 1
v 95 6HE6 -1430 -830  6HE-1 100 140 1 v KJ83 4HN5 450 390  4HN6 480 3.0 1
¢ 965 Dif: 750 NS:4 4HES5 650 50 1 ¢ Ka Dif: 0 NS:2 4HS5 450 2.0 1
» JT954 IMP: 13 EW:12 5SW6 680 40 1 s K IMP: 0 EW:-2 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

5 NS: E3¥K ZZEREIRGHO) 17 10 NS: FRiEL REE(BAC) -2 VP:| 14.54 : 5.46 | Total VP: 35.92 Rank:
EW: 13{EE FrgEEAC) 2 EW: BT sRE=(FO0) -1 IMP:| 43 29 9
v N
# 21 & Q9872 4SN6 680 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN5 460 Mean: 3NN5 460 1.0 2
v AQ 4SN4 620 480  4SN5 650 5.0 4 v A74 3NN4 430 420 3NS4 430 00 3
6 Dif: 60 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: 30 NS:1  3NN4 430 00 5
» JT862 IMP: 2 EW:-4 2SN6 230 60 1 » Q976 IMP: 1 EW:0 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 + Q93 * K853 * J42
*eveN LAK3 ®IVeON LAT7
N 3~~53 ¢K743 N ~43~4 ¢QJ63
S 3~~53 4JT94 S ~43~4 Q7
E ~~~~~ aK4 E ~~~~~ &aAT
W~~~~~ W~~~~~
# 23 » 9852 2HE3 -140 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS4 420 Mean: 4HS6 480 20 5
eT9 3NE-1100 -240 3NW-1 100 80 1 v KJ96 4HN4 420 400  4HS5 450 2.0 2
¢ 762 Dif: 240 NS:3  3NE-1 100 80 2 + A874 Dif: 0 NS:1 4HS4 420 1.0 4
» KT87 IMP: -6 EW:-8 3CW-1 100 80 1 » Q2 IMP: 0 EW:-1 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||a Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 4HN-1 -50 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 4SS6 680 Mean: 6SS6 1430 80 7
v AJ653 4SS4 420 -30  3NE-2 200 6.0 1 v T73 6SN6 1430 1100 6SN6 1430 8.0 1
¢ QT Dif: -470 NS:-1  4SN-1 50 1.0 1 + KQ4 Dif: -750 NS:-9 4SS6 680 9.0 5
» QT IMP: -10 EW:-10 4HN-1 50 1.0 3 a K2 IMP: -13 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 2SW3 -140 Mean: 4SW-2 100 60 1
v K7 6NN6 990 950  6NN6 990 1.0 11 v Q97 2DXN-3 -800 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: 660 NS:0 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: 12 EW:12 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 6HE-1100 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HN5 450 Mean: 5DXE-3 500 3.0 1
v 95 6HE6 -1430 -830  6HE-1 100 140 1 v KJ83 4HN-1-50 390  4HN6 480 3.0 1
¢ 965 Dif: 1530 NS:14 4HES5 650 50 1 ¢ K4 Dif: 500 NS:2 4HS5 450 2.0 1
» JT954 IMP: 17 EW:12 5SW6 680 40 1 s K IMP: 11 EW:10 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

6 NS: HE8& #HIEEHO) 12 1 2 NS: B#ER KZE(BAC) 11 VP:| 11.14 : 8.86 | Total VP: 42.89 Rank:
EW: Zl&¢s SEEEIC) -11 EW: 8} {2 HEFE(FO0) -12 IMP:| 20 17 5
v N
# 21 & Q9872 1NS3 150 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN3 400 Mean: 3NN5 460 1.0 2
v AQ 1NS5210 480 4SN5 650 5.0 4 v A74 3NS4430 420 3NS4 430 00 3
6 Dif: -60 NS:-8 4SN4 620 4.0 2 ¢ KT8 Dif: -30 NS:-1  3NN4 430 00 5
» JT862 IMP: -2 EW:7 2SN6 230 60 1 » Q976 IMP: -1 EW:0 3NN3 400 1.0 4
# 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 ¢K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NE-1100 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS5 450 Mean: 4HS6 480 20 5
eT9 2HE3 -140 -240  3NW-1 100 80 1 v KJ96 4HS6 480 400  4HS5 450 2.0 2
¢ 762 Dif: 240 NS:8 3NE-1 100 80 2 + A874 Dif: -30 NS:2 4HS4 420 1.0 4
» KT87 IMP: 6 EW:-3 3CW-1 100 80 1 » Q2 IMP: -1 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQ82 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®P¢VSN L, AT6 3NW4 630 -9.0 1 *P¢VEeN L, KJB3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 3NE-2 200 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 1430 Mean: 6SS6 1430 80 7
v AJ653 4HN-1-50 -30  3NE-2 200 6.0 1 v T73 6SS6 1430 1100 6SN6 1430 8.0 1
¢ QT Dif: 250 NS:6 4SN-1 50 1.0 1 + KQ4 Dif: 0 NS:8 4SS6 680 9.0 5
» QT IMP: 6 EW:1  4HN-1 50 1.0 3 a K2 IMP: 0 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 4SW-1 50 Mean: 4SW-2 100 60 1
v K7 6NS6 990 950  6NN6 990 1.0 1M v Q97 2NW4 -180 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: 230 NS:5 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: 6 EW:1  3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SwW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ o 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 6SW6 -1430 Mean: 6SW-1 100 14.0 1 [|# 30 » T98543 5DXE-3 500 Mean: 5DXE-3 500 3.0 1
v 95 5SW6 -680 -830  6HE-1 100 140 1 v KJ83 4HN5 450 390  4HN6 480 3.0 1
¢ 965 Dif: -750 NS:-12 4HES5 650 50 1 ¢ Ka Dif: 50 NS:3 4HS5 450 2.0 1
» JT954 IMP: -13 EW:-4 5SW6 680 40 1 s K IMP: 2 EW:-2 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 4+ A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

7 NS: Alan SIA Diana SUN(EH C) 2 NS: BZ 8 MIEE(B0) 14 VP:| 5.20 14.80| Total VP: 39.17 Rank:
EW: Radihike RYRN Sunny LAN EW: BRZE BRER(FIC) 5 IMP:| 5 : 20 8
v N
# 21 & Q9872 2SN4 -170 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN3 -400 Mean: 3NN5 460 1.0 2
v AQ 2SN6 -230 480  4SN5 650 5.0 4 v A74 3NN4 -430 420 3NS4 430 00 3
6 Dif: 60 NS:-6 4SN4 620 4.0 2 ¢ KT8 Dif: 30 NS:0 3NN4 430 00 5
» JT862 IMP: 2 EW:7 2SN6 230 60 1 » Q976 IMP: 1 EW:1  3NN3 400 1.0 4
# 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 ¢K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3CW-1-100 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS4 -420 Mean: 4HS6 480 20 5
eT9 2HE4 170 240  3NW-1 100 80 1 v KJ96 4HN4 -420 400  4HS5 450 2.0 2
¢ 762 Dif: 270 NS:2  3NE-1 100 80 2 + A874 Dif: 0 NS:1 4HS4 420 1.0 4
» KT87 IMP: -7 EW:-8 3CW-1 100 80 1 » Q2 IMP: 0 EW:-1 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQ82 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®P¢VSN L, AT6 3NW4 630 -9.0 1 *P¢VEeN L, KJB3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 4SN-150 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 -1430 Mean: 6SS6 1430 80 7
v AJ653 4HN-150 -30  3NE-2 200 6.0 1 v T73 4SS6 -680 1100 6SN6 1430 8.0 1
¢ QT Dif: 0 NS:-1  4SN-1 50 1.0 1 + KQ4 Dif: -750 NS:-9 4SS6 680 9.0 5
» QT IMP: 0 EW:1  4HN-1 50 1.0 3 a K2 IMP: -13 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NS6 990 1.0 1 ||# 28 a5 3SW3 140 Mean: 4SW-2 100 60 1
v K7 6NN6 -990 950  6NN6 990 1.0 1M v Q97 2SW2 110 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: 30 NS:1  4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: 1 EW:0 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SwW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ o 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 4HE6 680 Mean: 6SW-1 100 14.0 1 [|# 30 » T98543 4HN4 -420 Mean: 5DXE-3 500 3.0 1
v 95 4HE6 680 -830  6HE-1 100 140 1 v KJ83 4HN5 -450 390  4HN6 480 3.0 1
¢ 965 Dif: 0 NS:4 4HE5 650 50 1 ¢ Ka Dif: 30 NS:2 4HS5 450 2.0 1
» JT954 IMP: 0 EW:-4 5SW6 680 40 1 s K IMP: 1 EW:-1 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 4+ A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

8 NS: HHLE RFIFEEEC) -15 1 NS: B 555 (BH0) 10 VP:| 10.39 : 9.61 Total VP: 27.27 Rank:
EW: 5% S5AEEHO) 10 EW: & Z=F2E(BAC) 15 IMP:| 15 14 13
v N
# 21 & Q9872 4SN5 -650 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN5 -460 Mean: 3NN5 460 1.0 2
v AQ 4SN5 -650 480  4SN5 650 5.0 4 v A74 3NN4 -430 420 3NS4 430 00 3
6 Dif: 0 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: -30 NS:0 3NN4 430 00 5
» JT862 IMP: 0 EW:-5 2SN6 230 60 1 » Q976 IMP: -1 EW:-1 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NE-2 -200 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS6 -480 Mean: 4HS6 480 20 5
eT9 3NW4 630 -240  3NW-1 100 80 1 v KJ96 4HS6 -480 400  4HS5 450 2.0 2
¢ 762 Dif: -830 NS:-9 3NE-1 100 80 2 + A874 Dif: 0 NS:2 4HS4 420 1.0 4
» KT87 IMP: -13 EW:-10 3CW-1 100 80 1 » Q2 IMP: 0 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||a Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W~~~~~
# 25 » AQT3 3NW4 630 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 4SS6 -680 Mean: 6SS6 1430 80 7
v AJ653 3HN-150 -30  3NE-2 200 6.0 1 v T73 4SN6 -680 1100 6SN6 1430 8.0 1
¢ QT Dif: 580 NS:-1 4SN-1 50 1.0 1 + KQ4 Dif: 0 NS:-9 4SS6 680 9.0 5
» QT IMP: 11 EW:12 4HN-1 50 1.0 3 a K2 IMP: 0 EW:9 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NS6 990 1.0 1 ||# 28 a5 1DW1 70 Mean: 4SW-2 100 60 1
v K7 6HS6 -980 950  6NN6 990 1.0 11 v Q97 4SW-1-50 -150  3NW-2 100 60 1
* KJ7 Dif: -10 NS:1  6HS6 980 1.0 1 ¢+ QJ9532 Dif: 120 NS:5 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: 3 EW:-2 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 6SE6 1430 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HN5 -450 Mean: 5DXE-3 500 3.0 1
v 95 6HW6 1430 -830  6HE-1 100 140 1 v KJ83 4HNG -480 390  4HN6 480 3.0 1
¢ 965 Dif: 0 NS:-12 4HES5 650 50 1 ¢ Ka Dif: 30 NS:3 4HS5 450 2.0 1
» JT954 IMP: 0 EW:12 5SW6 680 40 1 s K IMP: 1 EW:-2 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

9 NS: E=EE BEIrERGHO) 12 14 NS: 3278 MF I (BAC) 2 VP:| 15.05 : 4.95 | Total VP: 58.87 Rank:
EW: 28 X8 HREEFEEAC) -2 EW: B3k = JIXA(FHO) -1 IMP:| 37 21 2
v N
# 21 & Q9872 4SN6 680 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NS4 430 Mean: 3NN5 460 1.0 2
v AQ 4SN5 650 480  4SN5 650 5.0 4 v A74 3NS4 430 420 3NS4 430 00 3
6 Dif: 30 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: 0 NS:0 3NN4 430 00 5
» JT862 IMP: 1 EW:-5 2SN6 230 60 1 » Q976 IMP: 0 EW:0 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NE3 -600 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS4 420 Mean: 4HS6 480 20 5
eT9 3NW3 -600 -240  3NW-1 100 80 1 v KJ96 6HN-2 -100 400  4HS5 450 2.0 2
¢ 762 Dif: 0 NS:-8 3NE-1 100 80 2 + A874 Dif: 520 NS:1 4HS4 420 1.0 4
» KT87 IMP: 0 EW:8 3CW-1 100 80 1 » Q2 IMP: 11 EW:11 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W~~~~~
# 25 » AQT3 4SS4 420 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 4SS6 680 Mean: 6SS6 1430 80 7
v AJ653 4DE4 -130 -30  3NE-2 200 6.0 1 v T73 6SS6 1430 1100 6SN6 1430 8.0 1
¢ QT Dif: 550 NS:10 4SN-1 50 1.0 1 + KQ4 Dif: -750 NS:-9 4SS6 680 9.0 5
» QT IMP: 11 EW:3  4HN-1 50 1.0 3 a K2 IMP: -13 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 2DN-3 -300 Mean: 4SW-2 100 60 1
v K7 6NN6 990 950  6NN6 990 1.0 1M v Q97 3SW-150 -150 3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: -350 NS:-4 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: -8 EW:-5 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 aT75 6SW-1100 Mean: 6SW-1 100 140 1 ||# 30 » T98543 3NN5 460 Mean: 5DXE-3 500 3.0 1
v 95 4SW6 -680 -830  6HE-1 100 140 1 v KJ83 4HS4 420 390  4HN6 480 3.0 1
¢ 965 Dif: 780 NS:14 4HES5 650 50 1 ¢ Ka Dif: 40 NS:2 4HS5 450 2.0 1
» JT954 IMP: 13 EW:-4 5SW6 680 40 1 s K IMP: 1 EW:-1 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

1 O NS: B SEEEAC) -2 5 NS: 8l5¥K ZZ#EI5(BAO) 17| VP:| 5.46 14.54| Total VP: 30.06 Rank:
EW: BEHEY \REEREI0) -17 EW: fB{E3E $BEHR(BAC) 2 IMP:| 29 : 43 12
v N
# 21 & Q9872 4SN6 -680 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN5 -460 Mean: 3NN5 460 1.0 2
v AQ 4SN4 -620 480  4SN5 650 5.0 4 v A74 3NN4 -430 420 3NS4 430 00 3
6 Dif: -60 NS:4 4SN4 620 4.0 2 ¢ KT8 Dif: -30 NS:0 3NN4 430 00 5
» JT862 IMP: -2 EW:-5 2SN6 230 60 1 » Q976 IMP: -1 EW:-1 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W~~~~~ W~~~~~
# 23 » 9852 2HE3 140 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS4 -420 Mean: 4HS6 480 20 5
eT9 3NE-1-100 -240  3NW-1 100 80 1 v KJ96 4HN4 -420 400  4HS5 450 2.0 2
¢ 762 Dif: 240 NS:8 3NE-1 100 80 2 + A874 Dif: 0 NS:1 4HS4 420 1.0 4
» KT87 IMP: 6 EW:-3 3CW-1 100 80 1 » Q2 IMP: 0 EW:-1 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ ¢AQ98 S ~~442 +Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 4HN-1 50 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 4SS6 -680 Mean: 6SS6 1430 80 7
v AJ653 4SS4 -420 30  3NE-2 200 6.0 1 v T73 6SN6 -1430 1100 6SN6 1430 8.0 1
¢ QT Dif: 470 NS:10 4SN-1 50 1.0 1 + KQ4 Dif: 750 NS:8 4SS6 680 9.0 5
» QT IMP: 10 EW:1  4HN-1 50 1.0 3 a K2 IMP: 13 EW:9 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NS6 990 1.0 1 ||# 28 a5 2SW3 140 Mean: 4SW-2 100 60 1
v K7 6NN6 -990 950  6NN6 990 1.0 1M v Q97 2DXN-3 800 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: -660 NS:-12 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: -12 EW:0 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 aT75 6HE-1 -100 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HNS5 -450 Mean: 5DXE-3 500 3.0 1
v 95 6HE6 1430 -830  6HE-1 100 140 1 v KJ83 4HN-150 390 4HN6 480 3.0 1
¢ 965 Dif: -1530 NS:-12 4HE5 650 50 1 ¢ Ka Dif: -500 NS:-10 4HS5 450 2.0 1
» JT954 IMP: -17 EW:-14 5SW6 680 40 1 s K IMP: -11 EW:-2 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

1 1 NS: FRBCE & SUEEAC) -6 3 NS: E2Z #=RE(B0) 4 VP:| 8.50 11.50 | Total VP: 48.51 Rank:
EW: £HEE FREEI0) 4 EW: #3{E #F{_E(BAC) 6 IMP:| 14 18 3
v N
# 21 & Q9872 4SN5 -650 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN3 -400 Mean: 3NN5 460 1.0 2
v AQ 4SN6 -680 480  4SN5 650 5.0 4 v A74 3NN3 -400 420 3NS4 430 00 3
6 Dif: 30 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: 0 NS:-1  3NN4 430 00 5
» JT862 IMP: 1 EW:-5 2SN6 230 60 1 » Q976 IMP: 0 EW:1 3NN3 400 1.0 4
# 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 ¢K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NW3 600 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS5 -450 Mean: 4HS6 480 20 5
eT9 3NW3 600 -240 3NW-1 100 80 1 v KJ96 4HS6 -480 400  4HS5 450 2.0 2
¢ 762 Dif: 0 NS:-8 3NE-1 100 80 2 + A874 Dif: 30 NS:2 4HS4 420 1.0 4
» KT87 IMP: 0 EW:8 3CW-1 100 80 1 » Q2 IMP: 1 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQ82 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®P¢VSN L, AT6 3NW4 630 -9.0 1 *P¢VEeN L, KJB3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 3DE4 130 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 -1430 Mean: 6SS6 1430 80 7
v AJ653 4HN-2100 -30  3NE-2 200 6.0 1 v T73 4SS6 -680 1100 6SN6 1430 8.0 1
¢ QT Dif: 30 NS:-2 4SN-1 50 1.0 1 + KQ4 Dif: -750 NS:-9 4SS6 680 9.0 5
» QT IMP: 1 EW:3 4HN-1 50 1.0 3 a K2 IMP: -13 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NS6 990 1.0 1 ||# 28 a5 2DN-3 300 Mean: 4SW-2 100 60 1
v K7 6NN6 -990 950  6NN6 990 1.0 1M v Q97 3NW-2 -100 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: 400 NS:6 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: 9 EW:4 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SwW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ o 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 3NW7 720 Mean: 6SW-1 100 14.0 1 [|# 30 » T98543 4HS4 -420 Mean: 5DXE-3 500 3.0 1
v 95 4HE5 650 -830  6HE-1 100 140 1 v KJ83 1NS5-210 390  4HN6 480 3.0 1
¢ 965 Dif: 70 NS:5 4HE5 650 50 1 ¢ K4 Dif: -210 NS:-5 4HS5 450 2.0 1
» JT954 IMP: 2 EW:-3 5SW6 680 40 1 s K IMP: -5 EW:-1 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 4+ A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

1 2 NS: B S 2255 EAC) 11 6 NS: &4 #iEFHOo) 12 VP:| 8.86 11.14| Total VP: 39.98 Rank:
EW: ¥ & PREEEHO) -12 EW: 8/28% EEE(FIC) 1 IMP:| 17 20 7
v N
# 21 & Q9872 1NS3 -150 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN3 -400 Mean: 3NN5 460 1.0 2
v AQ 1NS5-210 480  4SN5 650 5.0 4 v A74 3NS4 -430 420 3NS4 430 00 3
6 Dif: 60 NS:-7 4SN4 620 4.0 2 ¢ KT8 Dif: 30 NS:0 3NN4 430 00 5
» JT862 IMP: 2 EW:8 2SN6 230 60 1 » Q976 IMP: 1 EW:1  3NN3 400 1.0 4
# 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 ¢K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NE-1-100 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS5 -450 Mean: 4HS6 480 20 5
eT9 2HE3 140 -240  3NW-1 100 80 1 v KJ96 4HS6 -480 400  4HS5 450 2.0 2
¢ 762 Dif: 240 NS:3  3NE-1 100 80 2 + A874 Dif: 30 NS:2 4HS4 420 1.0 4
» KT87 IMP: -6 EW:-8 3CW-1 100 80 1 » Q2 IMP: 1 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQ82 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®P¢VSN L, AT6 3NW4 630 -9.0 1 *P¢VEeN L, KJB3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 3NE-2 -200 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 -1430 Mean: 6SS6 1430 80 7
v AJ653 4HN-150 -30  3NE-2 200 6.0 1 v T73 6SS6 -1430 1100 6SN6 1430 8.0 1
¢ QT Dif: -250 NS:-1  4SN-1 50 1.0 1 + KQ4 Dif: 0 NS:8 4SS6 680 9.0 5
» QT IMP: -6 EW:-6 4HN-1 50 1.0 3 a K2 IMP: 0 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NS6 990 1.0 1 ||# 28 a5 4SW-1 -50 Mean: 4SW-2 100 60 1
v K7 6NS6 -990 950  6NN6 990 1.0 1M v Q97 2NW4 180 -150  3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: -230 NS:-1  4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: -6 EW:-5 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SwW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ o 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 6SW6 1430 Mean: 6SW-1 100 14.0 1 [|# 30 » T98543 5DXE-3 -500 Mean: 5DXE-3 500 3.0 1
v 95 5SW6 680 -830  6HE-1 100 140 1 v KJ83 4HN5 -450 390  4HN6 480 3.0 1
¢ 965 Dif: 750 NS:4 4HES5 650 50 1 ¢ Ka Dif: -50 NS:2 4HS5 450 2.0 1
» JT954 IMP: 13 EW:12 5SW6 680 40 1 s K IMP: -2 EW:-3 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 4+ A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




1142 E<Z 2 ABERE 2B h

==> R4

#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

1 3 NS: 5B &R FC) 4 4 NS: 2412 EER(BFI0) -7 VP:| 12.18 : 7.82 Total VP: 35.92 Rank:
EW: @ £k %EE0) 7 EW: BRiZHE $BEH(FC) -4 IMP:| 33 27 9
v N
# 21 & Q9872 2SN4 -170 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN4 -430 Mean: 3NN5 460 1.0 2
v AQ 4SN4 -620 480  4SN5 650 5.0 4 v A74 3NN4 -430 420 3NS4 430 00 3
6 Dif: 450 NS:4 4SN4 620 4.0 2 ¢ KT8 Dif: 0 NS:0 3NN4 430 00 5
» JT862 IMP: 10 EW:7 2SN6 230 60 1 » Q976 IMP: 0 EW:0 3NN3 400 1.0 4
# 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 ¢K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NW3 600 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS6 -480 Mean: 4HS6 480 20 5
eT9 3NW-1-100 -240  3NW-1 100 80 1 v KJ96 4HS4 -420 400  4HS5 450 2.0 2
¢ 762 Dif: 700 NS:8 3NE-1 100 80 2 + A874 Dif: -60 NS:1 4HS4 420 1.0 4
» KT87 IMP: 12 EW:8 3CW-1 100 80 1 » Q2 IMP: -2 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQ82 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®P¢VSN L, AT6 3NW4 630 -9.0 1 *P¢VEeN L, KJB3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 4HXN-1 100 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 6SS6 -1430 Mean: 6SS6 1430 80 7
v AJ653 4DE4130 -30  3NE-2 200 6.0 1 v T73 6SS6 -1430 1100 6SN6 1430 8.0 1
¢ QT Dif: -30 NS:-3 4SN-1 50 1.0 1 + KQ4 Dif: 0 NS:8 4SS6 680 9.0 5
» QT IMP: -1 EW:2 4HN-1 50 1.0 3 a K2 IMP: 0 EW:-8 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NS6 990 1.0 1 ||# 28 a5 4SW4 420 Mean: 4SW-2 100 60 1
v K7 4NN6 -490 950  6NN6 990 1.0 1M v Q97 4SW-2 -100 -150 3NW-2 100 60 1
* KJ7 Dif: -500 NS:-10 6HS6 980 1.0 1 ¢+ QJ9532 Dif: 520 NS:6 4SW-1 50 50 2
» KQ7 IMP: -11 EW:-1 4NN6 490 100 1 » AKS8 IMP: 11 EW:7  3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SwW3 -140 0.0 1
PIVEN L, I3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ o 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 aT75 4SW6 680 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HS5 -450 Mean: 5DXE-3 500 3.0 1
v 95 6HE6 1430 -830  6HE-1 100 140 1 v KJ83 4HN5 -450 390  4HN6 480 3.0 1
¢ 965 Dif: -750 NS:-12 4HES5 650 50 1 ¢ Ka Dif: 0 NS:2 4HS5 450 2.0 1
» JT954 IMP: -13 EW:-4 5SW6 680 40 1 s K IMP: 0 EW:-2 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 4+ A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




4 E<F > RHERE

\\‘

==> R4

#1: 3 JEFERE(59.17) #2: 9 B

EX15(58.87) #3: 11 KIES(48.51)

1 4 NS: 2268 AT HEEAC) 2 9 NS: EHE RiIiF(BA0) 12| VP:| 4.95 15.05| Total VP: 40.98 Rank:
EW: ¥izkz JT2IEI0) -12 EW: 38X 38 MEEF(FAC) -2 IMP:| 21 37 6
v N
# 21 & Q9872 4SN6 -680 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NS4 -430 Mean: 3NN5 460 1.0 2
v AQ 4SN5 -650 480  4SN5 650 5.0 4 v A74 3NS4 -430 420 3NS4 430 00 3
6 Dif: -30 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: 0 NS:0 3NN4 430 00 5
» JT862 IMP: -1 EW:-5 2SN6 230 60 1 » Q976 IMP: 0 EW:0 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 K743 N ~43~4 ¢ QJ63
S 3~~53 ¢JT94 S ~43~4 o QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W ~~~~~ W ~~~~~
# 23 » 9852 3NE3 600 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS4 -420 Mean: 4HS6 480 20 5
eT9 3NW3 600 -240 3NW-1 100 80 1 v KJ96 6HN-2 100 400  4HSS5 450 2.0 2
¢ 762 Dif: 0 NS:-8 3NE-1 100 80 2 + A874 Dif: -520 NS:-11 4HS4 420 1.0 4
» KT87 IMP: 0 EW:8 3CW-1 100 80 1 » Q2 IMP: -11 EW:-1 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||e Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~ ~ ¢J543 N ~~ 442 ¢ AQT854
S ~~~~~ ¢AQ98 S ~~442 +Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 4SS4 -420 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 4SS6 -680 Mean: 6SS6 1430 80 7
v AJ653 4DE4130 -30  3NE-2 200 6.0 1 v T73 6SS6 -1430 1100 6SN6 1430 8.0 1
¢ QT Dif: -550 NS:-3 4SN-1 50 1.0 1 + KQ4 Dif: 750 NS:8 4SS6 680 9.0 5
» QT IMP: -11 EW:-10 4HN-1 50 1.0 3 a K2 IMP: 13 EW:9 4SN6 680 9.0 1
94 » 87 3HN-1 50 10 1 |]ae 4 T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W~~~~~
# 27 & AKQTS 6NN6 -990 Mean: 6NS6 990 1.0 1 ||# 28 a5 2DN-3 300 Mean: 4SW-2 100 60 1
v K7 6NN6 -990 950  6NN6 990 1.0 1M v Q97 3SW-1-50 -150 3NW-2 100 60 1
* KJ7 Dif: 0 NS:1 6HS6 980 1.0 1 ¢+ QJ9532 Dif: 350 NS:5 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: 8 EW:4 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W ~~~~~ W ~2~21
# 29 aT75 6SW-1 -100 Mean: 6SW-1 100 140 1 ||# 30 » T98543 3NN5 -460 Mean: 5DXE-3 500 3.0 1
v 95 4SW6 680 -830 6HE-1 100 140 1 v KJ83 4HS4 -420 390  4HN6 480 3.0 1
¢ 965 Dif: -780 NS:4 4HES5 650 50 1 ¢ Ka Dif: -40 NS:1 4HS5 450 2.0 1
» JT954 IMP: -13 EW:-14 5SW6 680 40 1 s K IMP: -1 EW:-2 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NWT7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~




